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iy RO NO; s IPCE (New Syllabus) 2071

Paper -3
Total No. of Questions — 6 Cost and Management Accountinfjotal No. of Printed Pages — 32

Time Allowed — 3 Hours Maximum Marks — 100

ZRM-H

Answers to questions dre to be given only in English except in the case of candidates who
have opted for Hindi Medium. If a candidate has not opted for Hindi Medium, his/her

answers in Hindi will not be valued.

Marks : 100

Question No. 1 is compulsory.
Candidates are also required to answer any four questions from the remaining
five questions.

Working notes should form part of the respective answers.

Marks

1, Answer the following : , 4%5
(a) During a particular period ABC Ltd has furnished the following data:
Sales ¥ 10,00,000
Contribution o sales ratio 37% and
Margin of safety is 25% of sales.
A decrease in selling price and decrease in the fixed cost could change
the “contribution to sales ratio” to 30% and “margin of safety” to 40%
of the revised sales. Calculate:
(i) Revised Fixed Cost.
(ii) Revised Sales and

(iii) New Break- Even Point.

ZRM-H P.T.O.
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(b) A machine shop has 8 dsntical machines semped by 6 operators. The
machine cannot work without an operator wholly engaged on it. The

original cost of all the 8 machines works out to ¥ 32,00,000. The

following particulars are furnished for a six months period :

Normal available hours per month per operator 208
Absenteeism (without pay) hours per operator 18
Leave (with pay) hours per operator - 20
Normal unavoidable idle time — hours per operator 10

Average rate of wagés per day of 8 hours per operator ¥ 100

Production bonus estimated 10% on wages
Power consumed 340,250
Supervision and Indirect Labour % 16,500
I.ighting and Electricity % 6,000

The following particulars are given for a year :

Insurance < 3,60,000
Sundry work Expenses < 50,000
Management Expenses allocated | % 5,00,000
Depreciation , 10% on the original cost

Repairs and Maintenance (including consumables): 5% of the value of

all the machines.

Prepare a statement showing the comprehensive machine hour rate for

the machine shop.
ZRM-H
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(¢) MNO Ltd has provided following details :

Opening work in progress4 is 10,000 units at ¥ 50,000 (Material
100%, Labour and overheads 70% complete).

Input of materials is 55,000 units at ¥ 2,20,000. Amount spent on
Labour and Overheads is ¥ 26,500 and ¥ 61,500 respectively.
9,500 units were scrapped; degree of completion for material
100% and for labour & overheads 60%.

Closing work in progress is 12,000 units; degree of completion
for material 100% and for labour & overheads 90%.

Finished units transferred to next process are 43,500 units.
Normal loss is 5% of total input including opening work in

progress. Scrapped units would fetch ¥ 8.50 per unit.

You are required to prepare using FIFO method:-

)

Statement of Equivalent production

(i) Abnormal Loss Account

(d) GHI Ltd. manufactures ‘Stent’ that is used by hospitals in heart

surgery. As per the estimates provided by Pharmaceutical Industry

Bureau, there will be a demand of 40 Million ‘Stents’ in the coming

year. GHI Ltd. is expected to have a market share of 2.5% of the total

market demand of the Stents in the coming year. It is estimated that it

costs T 1.50 as inventory holding cost per stent per month and that the

set-up cost per run of stent manufacture is ¥ 225.

Required :

(i)

What would be the optimum run size for Stent manufacture ?
ZRM-H
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(if) What is the minimum inventory holding cost ?
(iii) Assuming that the company has a policy of manufacturing 4,000
stents per run, how much extra costs the company would

be incurring as compared to the optimum run suggested in

-(1) above ?

Z Ltd is working by employing 50 skilled workers. It is considering
the introduction of an incentive scheme — either Halsey Scheme (with
50% - Bonus) or Rowan Scheme — of wage payment for increasing the
labour productivity to adjust with the increasing demand for its
products by 40%. The company feels that if the proposed incentive
scheme could bring about an average 20% increase over the present
earnings of the workers, it could act as sufficient incentive for them to
produce more and the company has accordingly given assurance to the

workers.

Because of this assurance, an increase in productivity has been

observed as revealed by the figures for the month of April, 2020 :

Hourly rate of wages (guaranteed) T 50

Average time for producing one unit by one worker | 1.975 hours
at the previous performance (this may be taken as

time allowed)

Number of working days in a month 24

Number of working hours per day of each worker 8

Actual production during the month 6,120 units
ZRM-H
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Required :
(i) Calculate the effective increase in earnings of workers in

percentage terms under Halsey and Rowan scheme.
(ii) Calculate the savings to Z Ltd in terms of direct labour cost per

unit under both the schemes. |
(iii) Advise Z Ltd about the selection of the scheme that would fulfil

its assurance of incentivising workers and also to adjust with the

increase in demand.

(b) The following data are available from the books and records of Q Ltd. 10
for the month of April 2020 :

Direct Labour Cost =¥ 1,20,000 (120% of Factory Overheads)
Cost of Sales = ¥ 4,00,000
Sales =¥ 5,00,000

Accounts show the following figures:

1% April, 2020 | 30" April, 2020
() ®

Inventory :

Raw material 20,000 25,000
Work-in-progress 20,000 30,000
Finished goods 50,000 60,000
Other details :

Selling expenses 22,000
General & Admin. expenses 18,000

ZRM-H P.T.O.
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You are required to prepare a cost sheet for the month of April 2020
showing :

(i) Prime Cost
(i) Works Cost
(iif) Cost of Production
(iv) Cost of Goods sold

(v) Cost of Sales and Profit earned.

Two manufacturing companies A and B are planning to merge. The 10

details are as follows :

A B
Capacity utilisation (%) 90 60
Sales (%) 63,00,000 48,00,000
Variable Cost (%) 39,60,000 22,50,000
Fixed Cost (%) 13,00,000 15,00,000

Assuming that the proposal is implecmented, calculate :

(i) Break-Even sales of the merged plant and the capacity utilization
at that stage.

(i) Profitability of the merged plant at 80% capacity utilization.

(iii) Sales Turnover of the merged plant to earn a profit of
< 60,00,000.

(iv) When the merged plant is working at a capacity to earn a profit
of ¥ 60,00,000, what percentage of increase in selling price is

required to sustain an increase of 5% in fixed overheads.

ZRM-H
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(b) XYZ Ltd is engaged in the manufacturing of toys. It can produce 10
4,20,000 toys at its 70% capacity on per annum basis. Company is in
the process of determining sales price for the financial year 2020-21. It
has provided the following information :
Direct Material T 60 per unit
Direct Labour T 30 per unit

Indirect Overheads :

Fixed % 65,50,000 per énnum
Variable ¥ 15 per unit
Semi-variable ¥ 5,00,000 per annum up to 60% capacity and

T 50,000 for every 5% increase in capacity or
part thereof up to 80% capacity and thereafter
¥ 75,000 for every 10% increase in capacity or
part thereof.
Cdmpany desires to earn a profit of ¥ 25,00,000 for the year. Company has
planned that the factory will operate at 50% of capacity for first six months
of the year and at 75% of capacity for further three months and for the
balance three months, factory will operate at full capacity.
You are required to :
(1) Determine the average selling pricc at which each of the toy should be
sold to earn the desired profit.
(2) Given the above scenario, advise whether company should accept an
offer to sell each Toy at :
(a) T 130 per Toy

(b) T 129 per Toy
ZRM-H P.T.O.

© The Institute of Chartered Accountants of India



4,

(a)

)
ZRM-H

Mayura Chemicals Ltd buys a particular raw material at ¥ 8 per litre.
At the end of the processing in Department-1, this raw material splits-
off into products X,Y and Z. Product X is sold at the split-off point,
with no further processing. Products Y and Z require further
processing before they can be sold. Product Y is processed in
Department-2, and Product Z is processed in Department-3. Following

is a summary of the costs and other related data for the year 2019-20 :

Particulars Department

1 2 3
Cost of Raw Material T 4,80,000 - —
Direct Labour < 70,000 < 4,50,000 |%6,50,000
Manufacturing Overhead < 48,000 T2,10,000 |%T4,50,000

Products

X v z
Sales (litres) 10,000 15,000 22,500
Closing inventory (litres) 5,000 - 7,500
Sale price per litre (%) 30 64 50

ZRM-H
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There were no opening and closing inventories of basic raw materials
at the beginning as well as at the end of the year. All finished goods
inventory in litres was complete as to processing. The company uses

the Net- realisable value method of allocating joint costs.

You are required to prepare:
(i) Schedule showing the allocation of joint costs.

(ii) Calculate the Cost of goods sold of each product and the cost of
each item in Inventory.

(iii) A comparative statement of Gross profit.

Marks

ABC Ltd. manufactures three products X, Y and Z using the same 10
plant and resources. It has given the following infoﬁnation for the year
ended on 31% March, 2020:
X Y Y/

Production Quantity (units) 1200 1440 1968
Cost per unit:
Direct Material (%) 90 84 176
Direct Labour (%) 18 20 30

ZRM-H P.T.O.
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Budgeted direct labour rate was ¥ 4 per hour and the production
overheads, shown in table below, were absorbed to products using

direct labour hour rate. Company followed Absorption Costing

Method. However, the company is now considering adopting Activity

Based Costing Method.
Budgeted | Cost Driver Remarks
Overheads
(9]
Material 50,000 | No. of | No. of orders was 25
Procurement Orders units for each product.
Set-up 40,000 | No. of | All the three products
Production | are produced in
Runs production runs of 48
units.
Quality Control 28,240 | No. of | Done for each
Inspections | production run.
Maintenance 1,28,000 | Maintenance | Total maintenance hours
Hours were - 6,400 and was
allocated in the ratio of
1:1:2 between X, Y & Z.
ZRM-H
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Required:
1. Calculate the total cost per unit of each product using the

Absorption Costing Method.

2. Calculate the total cost per unit of each product using the

Activity Based Costing Method.

(a) ABC Health care runs an Intensive Medical Care Unit. For this 10
purpose, it has hired a building at a rent of ¥ 50,000 per month with the

agreement to bear the repairs and maintenance charges also.

The unit consists of 100 beds and 5 more beds can comfortably be
accommodated when the situation demands. Though the unit is open
for patients all the 365 days in a year, scrutiny of accounts for the year
2020 reveals that only for 120 days in the year, the unit had the full
capacity of 100 patients per day and for another 80 days, it had, on an
average only 40 beds occupied per day. But, there were occﬁsions
when the beds were full, extra beds were hired at a charge of T 50 per
bed per day. This did not come to more than 5 beds above the normal
capacity on any one day. The total hire charges for the extra beds

incurred for the whole year amounted to ¥ 20,000.

The unit engaged expert doctors from outside to attend on the patients
and the fees were paid on the basis of the number of patients attended
and time spent by them which on an average worked out to ¥ 30,000

per month in the year 2020.
ZRM-H P.T.O.
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The permanent staff expenses and other expenses of the unit were as

follows:

2 Supervisors each at a per month salary of
4 Nurses each at a per month salary of

2 Ward boys each at a per month salary of
Other Expenses for the year were as under:
Repairs and Maintenance

Food supplied to patients

Caretaker and Other services for patients
Laundry charges for bed linen

Medicines supplied

Cost of Oxygen etc. other than directly borne for

treatment of patients

General Administration Charges allocated to the unit

5,000
3,000

1,500

28,000
4,40,000
1,25,000
1,40,000
2,830,000

75,000

71,000

Required:

(1) What is the profit per patient day made by the unit in the year

2020, if the unit recovered an overall amount of ¥ 200 per day on

an average from each patient.

ZRM-H
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(ii) The unit wants to work on a budget for the year 2021, but the
number of patients requiring medical care is a very uncertain
factor. Assuming that same revenue and expenses prevail in the

year 2021 in the first instance, work out the number of patient-

days required by the unit to break even.

(b) Premier Industries has a sniall factory where 52 workers are employed
on an average for 25 days a month and they work 8 hours per day. The
normal down time is 15%. The firm has introduced standard costing
for cost control. Its monthly budget for November, 2020 shows that the

budgeted variable and fixed overhead are ¥ 1,06,080 and ¥ 2,21,000

respectively.

Marks

10

The (irm reports the following details of actual performance for

November, 2020, after the end of the month:

Actual hours worked
Actual production expressed in standard hours
Actual Variable Overheads

Actual Fixed Overheads

8,100 hrs.
8,800 hrs.
< 1,02,000

<2,00,000

You are required to calculate:

(i) Variable Overhead Variances :

ZRM-H
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(a) Variable overhead expenditure variance.

(b) Variable overhead efficiency variance. ‘
(i) Fixed Overhead Variances :

(a) Fixed overhead budget variance.

(b) Fixed overhead capacity variance.

(c) Fixed overhead efficiency variance.
(iii) . Control Ratios :

(a) Capacity ratio.

(b) Efficiency ratio.

(c) Activity ratio.

Answer any four of the following :

(a) State how the following items are treated in arriving at the value of

cost of material purchased :
« (i) Detention Charges/Fines
(i) Demurrage
(iii) Cost of Returnable containers
(iv) Central Goods and Service Tax (CGST)
(v) Shortage due to abnormal reasons.

ZRM-H
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(b)

(©)

(d)

(15)
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State the limitations of Budgetary Control System.

Explain Blanket Overhead Rate and Departmental Overhead Rate.
How they are calculated? State the conditions required for the

application of Blanket Overhead Rate.

State the method of costing that would be most suitable for :
(i) Oil Refinery

(i) Interior Decoration

(iii) Airlines Company

(iv) Advertising

(v) Car Assembly

Give any five examples of the impact of use of Information

Technology in Cost Accounting.

ZRM-H P.T.O.
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(Hindi Version)

37 wlieeiat it Sgwt g <) arem I 8, T9i % Jo el ST AR |
e el R ferd e 71 9 8, A o s R 8, R swk R R
IR <hT eIk &1 BT |
TGS 1 AEE R |
Y gl T H  fohegl =R et & S i |
%1d et (Working Notes) 3T % 1T 81 =f2T |

Marks
1. FEAFIWT: 4=><2(-5)
(a) Teh frfiree g o srafy oy & e sl g Req o
EER - % 10,00,000
ONHEREE G CEIG] - 3% WEH
L& Y Hi - Tasa#125%

ke ora wam i wd § S sEe e FEETd Y 30% U
“FLaT 6 AT R TR frsha T 40% Wee W R |

O SHIT

(31) wenfera vt e

(9) | fasea qen

(¥) Wwﬁﬁ‘o‘c{ﬁ%

ZRM-H
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(b) T WA 311 o 9T 8 FHEY B & S 76 6 uRe=merehl grn w=nfera Y
AT 2 | WA TRt o It N 39 W@ & fon el A e meet |
aft 373t wefiel Y I @ € 32,00,000 S 8 | ©: HIE B

Frafer & forg e fereron s TP o & -

HT IUeTed U femTg (S aitErereh) 208
Figafefar (fomm ) e (e afteerh) 18
FFTHI (S |lea) "ve i aReaTers 20
T ITaiEr fferg wm (a2, wfy giwEmerss) 10
3raq Aol R Wt uf afeareres 8 wvel 3 forg 3 100
ST S AT worgdl T 10%
Yo Wil % 40,250
freror wam sroE sm : % 16,500
YeRTeT Ta forega % 6,000
T Y o forg fe fereor fem e & -

Eitll % 3,60,000
=1 FE =T | T 50,000
TaY =Y JTEted ¥ 5,00,000
B 10% ST qod W

T U TEETd (3uW afee) avft 7ufi & qoa W 5% # |

wRit 3ifq % for foga aefi= wver ¢ i aren e fomor dem i |
ZRM-H P.T.O.
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©) @Wﬁ%ﬁ%mﬁmﬁwmmm%
RIS T 1 10,000 $H1EAT, T 50,000 TR @WH 100%,
T TN 70% o)
Gt T ST 55,000 $HTFAT T 2,20,000 T | 5 AT IURSEF W)
T AT T 26,500 TIY 61,500 7 |
9500 FTeal e &, qofar st = A % R 100% T
‘o7 aq IUNER 3 foTT 60% # |
Ffom =re] R 12000 31T ; qoiar Y AET A 6 I 100%
AT Y Iy IR o T 90% ¢ |
Tt STshe <hT 43,500 0T SHTEAT SRATANG 1 718 & | AT 1M
FA I H 5% RS dT] F Afgd 8 | R oAt
% 8.50 Wifey 3pTE & foremel R |
R Fre s § (FIFO fiftr w1 s e gw)
(i) EHded THISA ) AR
(i) STETHT & Wral

(d) Su=ems faftRe W' (Stent) H1 T =t 2 S ¥ & e
fafepean # sreqarat g s fbu o € | wwiefewa i
FET gRI o Y SEET % SHER o e Y § wrefe ffere
w2 H Aim At | Sfeers fafiee $o atm w1 2.5% fewm 3™ T
9§ 3T A B | 77 oft AW R fop iR umor v 2 1.50 Wi
TS, e 0T R oy 9 319 o1 T 225 ia W il w & ol € |

maﬁﬁ‘lﬁé

(i) T2 (Stent) Fmio 3 T STggperan ™ wrgst @@ €M

(i) A T2 TR AT F4T BT ?

(iii) I8 AFA §T 7 HEt 73 @ § 4000 W2 w1 Fmfor st 2,
Hr] w1 fehat stfafea emma aggean. @ S 6 Fw ) §
I TR ], B 3T T8 et get |

ZRM-H
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@) e fafies 50 puret gl # frgea = Fl W@ E | T o

SRUTEH AT 1 A H TR @ R o A & e
(Halsey Scheme) (50% SH9 dfgd) o0 5 ST 6 o= AoHl
(Rowan Scheme), fre@ Iearg &t wifnm & 40% Ffg +r 5™ Scargewar A

97 gR0 QU fFa S 7 | FEE STa et # 5 SRR SRomers

ST SFHHATET % A 3o § AT 20% Fhg o1 Tebell & Toq T8
A IeuTeT & T ITh! wafed Jom 23 w1 FE IR Gt B AR
Ao = iRt o 36l THR 1 SrverE fean ? |

39 AFTEH o By, 319 2020 Hig § e g@nati & Ieargerar #
gfg wreft et -

Marks
10

HSTG{l ohl BT G (TTRUCE) | % 50
‘{Ef C0] ﬁW'I'dT-I (Previous Performance) & YR | 1.975 GU
Teh Ao GRI Teh THTS ! S 1 IEd 99 (38

Tefiehd WHY AT T Thall B)

T Tg # w fegm 24
ek Hfen o fore wfafen st wet &t g 8

Hg H areafées seamed | 6120 FTEEl
sTafama -

(i) 3 2o e Qe AT h v At ST S 9t
U1 IfwTad & (in percentage terms) ShINTT |

(ii) ﬁﬁﬁm@ﬁ%%ﬁ%mﬁwﬁmﬁm&mmﬁ
ST <ht TTUHT HIRTT |

(iii) e Rafis F 3u% it B Soneas Ao ¥ SvarE B 9
ﬁtmﬁmﬁg@aﬁ{ﬁ%mﬁw%w%wﬁ
EIEIEI

ZRM-H ‘ P.T.O.
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(b) g fafaee i g vaw el @ 31 718 2020 & 7w =1 arfes

3T HIETE T § -

(20)
ZRM-H

I8 HH AN = ¥ 1,20,000 (FREHT YRS T 120%).

Tersha bt &G = ¥ 4,00,000

fasRa = 25,00,000
G =1 31 guria &
1 318, 2020 | 30 313, 2020
) ®)
gl 25,000
g T 20,000
1] T 20,000 30,000
i wre 50,000 60,000
A Torewr :
fersna = 22,000
HTHT=I UG JRITE ek 18,000
Y ufE &, 37 ATE 2020 % e e+ gwia §¢ v @va v
IR HIfT
(i) WU AT

(i) PRI ARTd (works cost)

(iii) ITATEA H AFTA

(iv) Tafsha ATET st AT (cost of goods sold)
(v) Tasha & e e arfsta @

ZRM-H
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(31) QI Frmift sreafaat T qe ot e w0 6 99 5 @ 2 ) e B

)

?:
L il
&THAT ITANT (%) 90 60
IEETHE) 63,00,000 | 48,00,000
qRad=sfier T (2) | 39,60,000 | 22,50,000
SRt AT (%) 13,00,000 | 15,00,000

T8 HTd 3T Foh Sreamar swrif=re st feam i & or iR -

(‘i) mﬁa(m)ﬁﬁww-ﬁﬁaﬁmmwmﬁm
I

(i) 80% &THT AT W foreARa G Y 19 eRIFal

(iii) TR W hi fasra smad (Fe@ Hafier) T 60,00,000 wT
315 7 |

(iv) = freRa S=7 € 60,00,000 T FHR 6 AHAT T HR HET
a1 TR IafeEt 7 5% hi 3w w@r % fr R g B
Tohem ST WM <t STTavasRar Brft |

T 91 Vg fafies Raeliat % fmfon w1t & wnft w2t & | 9w o
TR T 3G 70% e T T 98  4,20,000 Reety fififa w0 et
& | et fofta af 2020-21 % R fsra gea Puifa w0 ) whw
TR I Fh g A G e B T R |

ZRM-H

© The Institute of Chartered Accountants of India

Marks
10

10

P.T.O.



(22)

ZRM-H Marks
weae arft 7 60 9fe gbTE
A& HH % 30 Ui 3713
HATeTE] IR
- wrft ' % 65,50,000 Sifer o

~  giEdse Z 15 e 5oTe

— oefufEdasiel 2 5,00,000 ST a9 60% & @ T X 50,000
) T e TR &war & 5% A1 IqH W H
Y% g W 80% &HAT T AN AT
% 75,000 Aferiara TR &wa § 10% 0 IqH A
T J&% gig |

HET T8 F £ 25,00,000 FTH Y $TST W@t § | T T ST TG 8
o wget ©: TTE Haredt 50% WA W wiETfe 4 Y T 3 HEN
75% & UL a1 STkt < TE et qui e w aitetera g |

mﬁm%

(1) 3Na e qea Rom | w1 v Raeian Sifsa @ FAE
T S S T |

@) FR Y Tu aRgwm % FTER R FEH H TH K@, T
e et st Rt 1 Tt heT =

(37) T 130 9 Raein
(F) T 129 ufe Reenan
ZRM-H
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4. (3 YU Hhwew fifiee T fadiy = a1 2 8 Wi i Y e @ whed
2 | forvmn-1 < wfiean % wETee W T = AT IR T, o1 T,
Ste # oo & S 2 | e T Wi frvre fag w v arfife
W31 % ST ST W § | G A T e Y Foe & o A
SISHAT 35 SATEvehal Bl § | g a7 1 SHRA fwm-2 & qer Iame
S w1 ke farm-3 § Rpar w1 9 2019-20 % I § W0 w5

e fwmr
1 2 3
H 9T 1 AT T 4,80,000 = =
et 370,000 | 4,50,000 | % 6,50,000
fmioft Sufterg 348,000 | ¥2,10,000 | % 4,50,000
3IATE
T L1 '
fosrg (i ) 10,000 15,000 22,500
aifem e (efex #) 5,000 = 7,500
Tosra v v iR ) 30 64 50

Marks
10

T4 % TR T 3 g e /It 1 RIS TR A1 3w w0 T8

o | wft o A 7 Gfon, (efiet §) qof wikarsd § (Complete as to
processing) | It H‘{Eﬁ VT JTEfed i &% g IS aagﬁn@
fafy (Net-Realisable Value Method) <hT TR A R |

ZRM-H
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3 fret srufend &

(i) G AT o TS Y U TR

(i) T IS % A T WA H AN R Bl & TS HG (item)
1 AT ! TUMET

(iii) HeheT TN T TEAATCH aT0r

(b) T fafiee f eare v, 9T Ty ST, 99H 9 WH EEEA R 10
i o e et § 1 31 W 2020 Y ET B9 9T 99 % fog fe

GRS HERIRER S

| wE | 9d | S8
IcqTeH JTT (Sh1eal) | 1200 | 1440 | 1968
SIfl g8 ATTa

vy gt (%) 90 | 84 | 176

T 5 (3) 18 | 20 | 30

T TeAd FH < T 4 Wfa gvan oft 3R IR Iuited S e areft
H few U &, 1 yousr Hfes wvet it g (Direct labour hour rate)
ITINT Tk I B AN TR T AT | HET G TN AT
farfer (Absorption Costing Method) H I H TE 7 | WAfehT 3T
FHer fafafy smemia e ¥ (Activity Based Costing Method)
! A /RN @ R |

ZRM-H
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(W1ee)
ERIIC:D
®)
arf} wfey 50,000 | Jrewi AT AET | et s "G Uy
JETE 25 FohIgat oft
TATIT 40,000 | 3Ter W Y | wft A1 ITE 48
& (Production | 3@TEA  g|El #H
run) mﬁagq
NSCKIRERE 28,240 | frfievii M @ |y I 9@
 feru
ECC LG G} 1,28,000 | TwEw@ETe HUe A @@ 6,400
Y, M 1:1:2
% g # we,
I Ty g #
JmEfea fpemy &
Jrafére -
(1) TSI AvTa fafr (Absorption Costing Method) T ST Fa
B Teeh IS <hl Fret fer 3oHTE 1Tt <t 70T SR |
(2) Tiefafey et @ ff (Activity Based Costing Method) %1
ST HA T TF 3G B B TR THE A B AT
HIT |
ZRM-H : P.T.O.
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5.

(26)
ZRM-H

(a) TSTH T <@V (30U HE) T woF Fafercdia Sav (fm

Bfeehet HaT F(E) FhTE TAH § | T Ie¥T % {70 T€ T THRA
Z 50,000 it 7TE TG T W@ THR T8 T o AgEY W I
WA R |

318 100 ST (Beds) & T 5 SifaRed e ravEshdr
AR ST & TR 61 o A &, ey g e 3 Rt
365 fem et 2, o 2020 % @At i Fig @ T =@ @ & F 120
Tt e sohts o &wra, 100 W widfew Tae gut (37=) 80 feri &
fow aftaam 40 Sz wfefen o W o $© e | A @ Wi @
e e e 2 50 i e i Ret 3 o S W | S
fret ot fem 5 = wfofen amr amar @ e 78 @ | T W
Waﬁr&ﬁﬁw%ma@ﬁﬁno,ooom@l

W?ﬂﬂiwﬁrﬁﬂﬁﬁwﬁnﬁﬁaﬁwmﬁaﬁ)
% foTe STt & 3R Yoo Tliei <l T qUn 39 g e T 'Hy
% SATYR T 37T Tl & St o8 2020 § 30ga Z 30,000 i AT W& |
Fh1E % STt e 1 S U o o e e §

2 URATESR, T AfemTg A % 5,000
4 79, I Tfd 718 A < 3,000
2 918 919, Tk SfaHTE aaH Z 1,500

ZRM-H
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27)

ZRM-H . Marks
oY o T Y W THNE - ?
AT T T 28,000
ST 1 @ 4,40,000
TSt % fore e 3ot e 3= B | 1,25,000
TET AR TR A 1,40,000
qaTRAl ht (e 2,80,000
Ao e it omma, sus sifafes S| 75,000
TS GT0 et e <61
HHTA TR TR T8 ! ATafed 71,000

Tufara

(1) = 2020 # 37 H W Wiy wOAA-RA =1 B AR THE 2 200
wftfe sfteem o 7w @ e & |

) W,E&ZOZI%-WWWW‘#WW%WW@@T
5% wrem Farfreen S@wTer Y smavasar @ arfafa € 1 9 2021
T S T ST T 599 ) ATt REd g Yo SR # 5T
S Tavsh § g “wiist Tl o v femifera |

ZRM-H P.T.O.
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(28)
ZRM-H Marks
(b) mewmwéﬁ,@mﬁmzsﬁﬁ% 10
ﬁszﬁﬁﬁﬁw%wmasuﬁuﬁ%ﬁﬁ%
T SR R 15% @ | W g Ak T et @ e g
ﬁuaﬁﬂé%lmwzozommmm%%m
R Ty wrft SURET AN T 1,06,080 oI  2,21,000 7 |

T, 2020 % GHTH W # i gRT f et e w1 e

fem g -

wﬁaﬁ 1 uue 8100 ©I0
ST (expressed) AT IcATeA HHeH GV H | 8800 TUL
qrEfaeh TiEdRier SUNer % 1,02,000
Frefaes Wl IuRer % 2,00,000

TR TTorT TafdE R
(i) e Suftes Rt
(@) afadeiet it = R
(b) hEdfier Seiea e fore
(ii) et Iufer faerm |
(a) T Sufey wwe R
(b) Wmmﬁw
() Trft Sufeas et foeret
ZRM-H
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(29)
ZRM-H Marks

(iii) fror STuTa
(a) &HAT TIATA
(b) AT T
(c) @Sk 3TuTe

6. P i o aw A iR
@ F= = & T = arnh ¥ ge ko § feg R s w
ST |
() Uk T HTIAR / AT
(i) WS (Demurrage)
(ii) STIH E ST FHURI 6! AT
(iv) i F%q ToH FET L (CGST)
(v) 3T HROT &

(b) sl frmar sxawen i Hinmd saru |

(c) SAH IUNA & (Blanket Overhead Rate) Tad, Ryvrfia Iuftea et
(Departmental ‘Overhead Rate) 3! =qT@aT IR | 396 T fse
YR H ATl B ?mmﬁaﬂaaaﬁmaﬁ%mw
ikferferrt <t guit Hifdm |

ZRM-H P.T.O.
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(30)

ZRM-H
(d) wamEe AT e g fifat s g s &t -
(@) e R
(i) TR SR
(iti) TIATEH HEAL
(iv) e

(v) R THFE (Car Assembly)

(e) T @A H g NENREA % ITENT F W F HIg Ui IGEW
& |

ZRM-H
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